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Rechenkreisel, Blatt 6
Aufgaben zur Multiplikation bis 1000

Aufgabe 1

8
22

1
2

Innenprodukt:

4
2

24
3

Innenprodukt:

3
1

27
7

Innenprodukt:

Aufgabe 2

2

1
7

29

Innenprodukt:

1
22

2

396

Innenprodukt:

2
414

84

Innenprodukt:

Aufgabe 3

2
58

2328

Innenprodukt:

15
45

320

Innenprodukt:

23

11

46

11

Innenprodukt:
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Lösung: Rechenkreisel, Blatt 6
Aufgaben zur Multiplikation bis 1000

Aufgabe 1

+

8
22

1
2

176

222

16

Innenprodukt: 352

+

4
2

24
3

8

4872

12

Innenprodukt: 576

+

3
1

27
7

3

27189

21

Innenprodukt: 567

Aufgabe 2

+

2
29

1
7

58

297

14

Innenprodukt: 406

+

18
2

1
22

36

222

396

Innenprodukt: 792

+

2
4

6
14

8

2484

28

Innenprodukt: 672

Aufgabe 3

+

2
29

8
1

58

2328

2

Innenprodukt: 464

+

15
3

1
20

45

320

300

Innenprodukt: 900

+

23
2

11
1

46

2211

23

Innenprodukt: 506
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